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SBR

INPUT 1

RET

RETURN 1

SBR

0 Subroutine

Input Par _1N002[0]

INPUT 1

RETURN 1

Dest _1N001[99]
0

Return from Subroutine
Return Par _1N002[0]

SBR

RET

RET

Lines
Selected P14 on P15 on
CLR _1N001[98].0  _1NO001[98].1
Clear U U

FOR
2 For
Routine Name _1SBRO0_59
Index Index_1SBRO_59
0
Initial Value 0
Terminal Value 19
Step Size 1
_1B000[99].12
3 U
Line
V58 Open V59 Open valves
V56 Open V57 Open V58 _SO V59 SO open
_1B023[11].6  _1B023[11].7 <_1B023[11].8> <_1B023[11].9> _1B000[99].13
4 J E J E J E J E
RET
5 Return from Subroutine
6 TND >—
(End)
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Selected
Route Loop Selected
Counter Route
LBL59 MOV MOV
0 - LBL | Move Move
Source Index_1SBRO_59 Source _1NO10[_1N001_22]
0 0
Dest _1NO001_22 Dest _1NO001_21
< _1N001[22]> <_1NO001[21]>
0 0
Pump Used
MOV
1 Move
Source _1N024[_1N001_21]
0
Dest _1NO001[23]
0
Transfer
Line
Pump Used Selected
—EQU _1N001[99].0
2 Equal L
Source A _1N001[23]
0
Source B 15
Transfer
Line
Pump Used Selected
EQU _1N001[99].1
3 Equal L
Source A _1N001[23]
0
Source B 16
Transfer
Line
Pump Used Selected
EQU _1N001[99].2
4 Equal L

Source A _1N001[23]
0

Source B 17

RET——

Return from Subroutine
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(End)
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COP
Copy File
Source _1B003[10]
Dest DINTSource[0]
Length 8
COP
Copy File
Source _1B004[10]
Dest DINTReference[0]
Length 8
FBC
RESULT
CONTROL
FBC
File Bit Comparison —CEN)>—
Source DINTSource[0] —(DN)—
Reference DINTReference[0] —(FD)—
Result DINTResult[0] —CIN )—
Cmp. Control _1R006[10] —ER )—
Length 255
Position 0
Result Control _1R006[11]
Length 1
Position 0
FAL
File Arith/Logical —CEN)>—
CTRLOO
1 —(DN)—
0
ALL HCER)—

_1N089[82+CTRL00.POS]

DINTResult[0+CTRL00.POS]

0
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COP

(End)

Copy File

Source _1B003[90]
Dest DINTSource[0]
Length 1

COP

Copy File
Source _1B003[100]
Dest DINTReference[0]

Length 1
DDT
RESULT
CONTROL
DDT
Diagnostic Detect —CEN)>—
Source DINTSource[0] —(DN)—
Reference DINTReference[0] —(FD)—
Result DINTResultf0] —CIN)—
Cmp. Control _1R006[12] +HCER)—
Length 16
Position 0
Result Control _1R006[13]
Length 1
Position 0
FAL
File Arith/Logical —CEN)>—
CTRLO1
1 —(DN)—
0
ALL HER)—

_1N089[50+CTRL01.POS]

DINTResultj0+CTRL01.POS]

0
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BTR BTR BTR
ENABLE DONE ERROR
_0BRO17_00.EN _OBRO017 00.DN _OBRO017_00.ER
0 - — / /
BTR
CONTROL
MSG
Type - Block Transfer Read END)——
Message Control _0BRO017_00 ..., —(DN)—
ER —
BTW BTW BTW
ENABLE DONE ERROR
_0BW017_00.EN _OBWO17_00.DN _OBWO17_00.ER
1 - — / /
BTW
CONTROL
MSG
Type - Block Transfer Write EN)——
Message Control _0BW017_00 ... (DN ) >—
ER>—
MSG MSG MSG
ENABLE DONE ERROR
_OMSG000_00.EN _OMSGO000 _00.DN _OMSG000_00.ER
2 - — / /
MSG
CONTROL
MSG
Type - Unconfigured END)——
Message Control _O0MSG000_00 ...|-(DN)—
ER>—
3 [NOP]
(End)
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. Processcontol
PID PID
ENABLE CONTROL
_1PDO0O00[0].EN PID
0 | Proportional Integral Derivative
PID _1PD000[0] |....
Process Variable _1BTDO000[4]
Tieback 0
Control Variable _1BTD001[1]
PID Master Loop 0
Inhold Bit 0
Inhold Value 0
Setpoint 0.0
Process Variable 0.0
Output % 0.0
TPO
TPO .01 SEC
DONE BASE TIME
_1T000[12].DN TON
1 | = Timer On Delay —CEN
Timer _1T000[12] —CDN >—
Preset 500
Accum 0
TPO
.01 SEC
BASE TIME
CMP
Compare
Expression _1T000[12].ACC<(_1T000[12].PRE*(75/100.0)) E
_1B003[16].0
(End)
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.~ ASCllmanipulaton
ABL ABL ABL
ENABLE DONE CONTROL
_0SPC001_00.EN _0SPC001_00.DN ABL
0 —E— / ASCII Test For Buffer Line —CEND)——
Channel 0 —(DN)>—
SerialPort Control _0SPC001 00 —CER >—
Character Count 0
ACB ACB ACB
ENABLE DONE CONTROL
_0SPC001_01.EN  _0SPCO001_01.DN ACB
1 - — / ASCII Chars in Buffer —CEND)——
Channel 0 (DN)>—
SerialPort Control _0SPC001_01 —CER ) >—
Character Count 0
ARD ARD ARD
ENABLE DONE CONTROL
_0SPC001_02.EN _0SPC001_02.DN ARD
2 —— / ASCII Read —CEND)——
Channel 0
Destination _0ST000[0] (DN )—
SerialPort Control _0SPC001 02 —CER >—
SerialPort Control Length 80
Characters Read 0
ARL ARL ARL
ENABLE DONE CONTROL
_0OSPC001_03.EN _0SPC001_03.DN ARL
3 - — / ASCII Read Line —CEND)—
Channel 0
Destination _0ST000[1] H(DN)>—
SerialPort Control _0SPC001_03 —(ER)—
SerialPort Control Length 80
Characters Read 0
AWT AWT AWT
ENABLE DONE CONTROL
_0SPC001_04.EN _0SPCO001_04.DN AWT
4 —— / ASCII Write —CEND)—
Channel 0
Source _0ST000[2] H(DN)—
SerialPort Control _0SPC001 04 —CER >—
SerialPort Control Length 80
Characters Sent 0
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AWA AWA AWA
ENABLE DONE CONTROL
_0SPC001_05.EN _0SPC001_05.DN AWA
5 =/ =/ ASCII Write Append —CEND)——
Channel 0
Source _0ST000[3] H(DN)—
SerialPort Control _0SPC001 05 —CER >—
SerialPort Control Length 80
Characters Sent 0
AAL
DONE
_0MSG001_06.DN
6 = / B [ NOP |
ADL
ERROR
_0MSG001_07.ER
7 = /[ ' NOP |
ACN
SOURCE A
—CONCAT——

Dest

String Concatenate
Source A _0STO000[0]

Source B _0STO000[1]

_0ST000[2]

SOURCE

ACI

10

String

Dest

Source _0ST000[2]

STOD
To DINT

_1NO77[0]
0

AIC
SOURCE

Dest

DINT to String
Source _1NO77[1]
0

DTOS

_0STO000[3]

RSLogix 5000



_1SBR4 - Ladder Diagram
~62005250:MainTask:MainProgram
Total number of rungs in routine: 13

Page 10

5/6/2008 2:45:49 PM
E:\ 62005250.ACD

11

12

(End)

ASR
SOURCE A

AEX
SOURCE
MID
Middle String
Source _0STO000[3]
Qty 4
Start 5

Dest _0STO000[4]

ASC
SOURCE

EQU
Equal
Source A _0STO000[4]

Source B _0ST000[5]

FIND
Find String
Source _0ST000[6]
Search _0ST000[7]
Start 1

Result _1NO77[2]
0
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INPUT 00 OUTPUT 00
SYM_INOO SYM_OUTO00
<_010:l.Data[0].0> <_010:0.Data[1].0>

1 F
INPUT 01 OUTPUT 01
SYM_INO1 SYM_OUTO1
<_010:1.Data[0].1> <_010:0.Data[1].1>
1 F
INPUT 02 OUTPUT 02
SYM_INO2 SYM_OUT02
<_010:1.Data[0].2> <_010:0.Data[1].2>
T E
INPUT 03 OUTPUT 03
SYM_INO3 SYM_OUTO03
<_010:1.Data[0].3> <_010:0.Data[1].3>
1 F
INPUT 04 OUTPUT 04
SYM_INO4 SYM_OUT04
<_010:1.Data[0].4> <_010:0.Data[1].4>
—  —
INPUT 05 OUTPUT 05
SYM_INO5 SYM_OUTO05

INPUT 06
SYM_INO6
/

INPUT 07
SYM_INO7

<_010:1.Data[0].5> <_010:0.Data[1].5>
/

<_010:1.Data[0].6> <_010:0.Data[1].6>

OUTPUT 06
SYM_OUTO06

<_010:0.Data[1].7>

<_010:1.Data[0].7>
/

OUTPUT 07
SYM_OUTO07
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10

11

<_010:1.Data[0].14>

INPUT 10 INPUT 11 INPUT 12 INPUT 13 OUTPUT 10
SYM_IN10 SYM_IN11 SYM_IN12 SYM_IN13 SYM_OUT10
<_010:.Data[0].8> <_010:l.Data[0].9> < 010:l.Data[0].10> <_010:l.Data[0].11> <_010:0.Data[1].8>

1 E /B 1 E /8
|
OUTPUT 11 OUTPUT 12 OUTPUT 13
SYM_OUT11 SYM_OUT12 SYM_OUT13
< 010:0.Data[1].9> <_010:0.Data[1].10> <_010:0.Data[1].11>
L §

INPUT 14 OUTPUT 14
SYM_IN14 SYM_OUT14
<_010:1.Data[0].12> < 010:0.Data[1].12>
1 E L

INPUT 15
THIS IS AN
INSTRUCTN
COMMENT OUTPUT 15
SYM_IN15 SYM_OUT15
<_010:1.Data[0].13> < 010:0.Data[1].13>
/B
INPUT 16 OUTPUT 16
SYM_IN16 SYM_OUT16

<_010:0.Data[1].14>

1
1C
INPUT 17 OUTPUT 17
SYM_IN17 SYM_OUT17
< _010:1.Data[0].15> < _010:0.Data[1].15>
5/ L
OSF OSR
OUTPUT OUTPUT
BIT BIT
_1B000[0].2 OSR
1 E One Shot Rising
Storage Bit _1B000[0].0 (SB)—
Output Bit ~1B000[0].1 | OB
OSR OSF
OUTPUT OUTPUT
BIT BIT
_1B000[0].0 OSF
H F One Shot Falling
Storage Bit _1B000[0].2 —(SB)—
Output Bit ~1B000[0].3 < OB »—
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12

13

14

15

16

TON TON TON
1 SEC TIME 1 SEC TIME 1 SEC TIME TON
BASE BASE BASE 1 SEC TIME
ENABLE TIMING DONE BASE
_1TOOO[0].EN  _1TOOO[0].TT  _1TOOO[0].DN TON
5k — | — J F Timer On Delay —CEND)—
Timer _1T000[0] —CDN)>—
Preset 3600000
Accum 0
TON TON TON
.01 SEC .01 SEC .01 SEC TON
TIME BASE TIME BASE TIME BASE .01 SEC
ENABLE TIMING DONE TIME BASE
_1TOOO[1].EN ~ _1TOO0O[1].TT  _1TOO0O[1].DN TON
4 F — | — 4 F Timer On Delay —CEND)——
Timer _1T000[1] —(DN —
Preset 36000
Accum 0
TOF TOF TOF
1 SEC 1 SEC 1 SEC TOF
TIME BASE TIME BASE TIME BASE 1 SEC
ENABLE TIMING DONE TIME BASE
_1TO00[2].EN  _1TOO0O[2].TT  _1T000[2].DN TOF
5k — J F Timer Off Delay
Timer _1T000[2]
Preset 2400000
Accum 0
TOF TOF TOF
.01 SEC .01 SEC .01 SEC TOF
TIME BASE TIME BASE TIME BASE .01 SEC
ENABLE TIMING DONE TIME BASE
_1TOOO[3].EN ~ _1TOOO[3].TT  _1TO0O0O[3].DN TOF
H F — | — 4 F Timer Off Delay —CEND)——
Timer _1T000[3] (DN )—
Preset 24000
Accum 0
RTO RTO RTO
1SEC 1 SEC 1 SEC RTO
TIME BASE TIME BASE TIME BASE 1 SEC
ENABLE TIMING DONE TIME BASE
_1TOOO[4].EN  _1TOOO[4].TT  _1TO0OO0[4].DN RTO
5k — J F Retentive Timer On —CEND)——
Timer _1T000[4] —CDN)>—
Preset 1800000
Accum 0
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RTO RTO RTO
.01 SEC .01 SEC .01 SEC RTO
TIME BASE TIME BASE TIME BASE .01 SEC
ENABLE TIMING DONE TIME BASE
_1TO0O[5.EN _1TO00[5].TT  _1T000[5].DN RTO
17 4 F | q F Retentive Timer On —CEND>——
Timer 1T000[5] | DN>—
Preset 18000
Accum 0
RTO
.01 SEC
TIME BASE
17000[5]
18 RES
GTN
1SEC GTN
TIME BASE 1 SEC
DONE TIME BASE
_0T000[36].DN RTO
19 / Retentive Timer On —(EN >——
Timer _0TO000[36] (DN >—
Preset 90000
Accum 0
GTN
1 SEC GTN
TIME BASE 1 SEC
DONE TIME BASE
_0T000[36].DN _0T000[36].EN
20 q F U
. Counters
CTU CTU
COUNT UP COUNT UP CTU CTU
ENABLE DONE OVER FLOW COUNT UP
_1C000[0].CU _1CO00[0].DN _1C000[0].0V CTU
21 4 F q F q F Count Up —CCU >——
Counter _1C000[0] —CDN)>—
Preset 999
Accum 0
CTD CTD
COUNT DOWN COUNT DOWN CTD CTD
ENABLE DONE UNDER FLOW COUNT DOWN
1C000[1].CD  _1CO00[1].DN _1COO0O[1].UN CTD
22 4 F 4 F 4 F Count Down —(CD)—
Counter _1C000[1] —(DN)>—
Preset 1234
Accum 0
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23

24

25

26

27

CMP

Compare
Expression _1N089[0] < _1N089[1]

CTD
COUNT DOWN
_1C000[1]
RES )
CPT
MULTIPLY
CPT

LIM
TEST
LIM

Compute
Dest

Expression _1N089[2] * _1N089[3]

_1N089[4]
0

ADD
DESTINATN
ADD

Limit Test (CIRC)
Low Limit 0

Test _1NO089[5]
0

High Limit 300

MEQ

Add

Source A _1N089[6]
0

Source B _1N089[7]
0

Dest _1NO089[8]
0

SuUB
DESTINATN
SuUB

Mask Equal
Source  _0BO001[0]
0

Mask 16#0FFF

Compare _0BO001[1]
0

EQU
SOURCE A
EQU

Subtract
Source A _1N089[9]
0

Source B 1

Dest _1N089[9]
0

MUL
DESTINATN
MUL

Equal
Source A _1T000[2].ACC
0

Source B _1C000[3].ACC
0

Multiply
Source A _1N089[10]
0

Source B _1NO089[11]
0

Dest _1N089[11]
0
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NEQ DIV
SOURCE A DESTINATN
NEQ DIV
28 Not Equal Divide
Source A _1L003[1] Source A _1N089[12]
0 0
Source B 999999 Source B 2
Dest _1N089[13]
0
LES/GRT SQR
SOURCE A DESTINATN
LES SQR
29 Less Than (A<B) Square Root
Source A _1F008[4] Source _1N089[14]
0.0 0
Source B 5.5 Dest _1NO089[15]
0
LES/GRT NEG
SOURCE A DESTINATN
GRT NEG
30 Greater Than (A>B) Negate
Source A _1F008[4] Source _1N089[16]
0.0 0
Source B 5.5 Dest _1NO089[17]
0
LEQ TOD
SOURCE A DESTINATN
LEQ TOD
31 Less Than or Eql (A<=B) To BCD
Source A _1NO003[3] Source _1B003[4]
0 0
Source B _1NO003[4] Dest _010:0.Data[3]
0 2#0000_0000_0000_0000
GEQ FRD
SOURCE A DESTINATN
GEQ FRD
32 Grtr Than or Eql (A>=B) From BCD
Source A _1NO0O03[5] Source _010:1.Data[3]
0 2#0000_0000_0000_0000
Source B _1NO003[6] Dest _1B003[5]
0 0

RSLogix 5000
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33

34

35

36

37

MOV
DESTINATN
MOV

Move
Source 255

Dest _1B003[6]
0

MVM
DESTINATN
MVM
Masked Move

Source _1B003[7]
0
Mask 16#0FOF

Dest _1B003[8]
0

AND
DESTINATN
AND
Bitwise AND

Source A _1B003[9]
0
Source B _1B003[10]
0

Dest _1B003[11]
0

OR
DESTINATN
OR
Bitwise Inclusive OR

Source A _1B003[12]
0
Source B _1B003[13]
0

Dest _1B003[14]
0

NOT
DESTINATN

NOT

Bitwise NOT

Source _1B003[15]
0

Dest _1B003[15]
0
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XOR
DESTINATN
XOR
38 Bitwise Exclusive OR
Source A _1B003[16]
0
Source B 65530
Dest _1B003[17]
0
CLR
DESTINATN
CLR
39 Clear
Dest _1B003[18]
0
RMW
DESTINATN
CPT
40 Compute
Dest _1B003[20]
0
Expression (_1B003[19] AND 255) OR 65535
FAL
ENABLE ERROR
_1RO06[0].EN  _1R006[0].DN _1RO006[0].ER
41 JE I C I
FAL
MULTIPLY
BY 3
FAL
File Arith/Logical —(EN >——
Control _1R006_0
< 1R006[0]> |-(DN)>—
Length 48
Position 9 —(ER —
Mode ALL
Dest _1N089[150+_1R006_0.POS]
0
Expression _1N089[100+_1R006_0.POS]*3
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FSC FSC FSC FSC
ENABLE DONE ERROR FOUND
_1RO06[11.EN  _1RO006[11.DN  _1RO06[1.ER  _1R006[1].FD
42 2 E): 2): I —
FSC
NOT EQUAL
FSC
File Search/Compare —(EN >——
Control _1R006_1 —(DN —
< 1R006[1]> (ER)—
Length 25
Position 0
Mode ALL
Expression _1B003[0+_1R006_1.POS]<>_1B003[50+_1R006_1.POS]
- cschiftregister
BSL BSL BSL
ENABLE DONE UNLOAD
_1RO006[2].EN ~ _1R006[2].DN  _1R006[2].UL
43 1 E 1 E 1 E i

COP

Copy File

Source _1B004[0]
Dest DINTArray[0]
Length 2

BSL
LENGTH 64

Bit Shift Left

BSL
—(EN>——

Array DINTArray[0]
Control _1R006[2] —(DN)>—
Source Bit _000:1.Data[4].15
Length 64
COP
Copy File
Source DINTArray[0]
Dest _1B004[0]
Length 4
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44

45

46

47

BSR BSR BSR
ENABLE DONE UNLOAD
_1RO06[3].EN  _1R006[3].DN  _1R006[3].UL
0 C 0 C 0L
1 C 1 C 1 C
COP
Copy File
Source _1B004[0]
Dest DINTArray[0]
Length 2
BSR
LENGTH 64
BSR
Bit Shift Right —CEN)——
Array DINTArray[0]
Control _1R006[3] (DN —
Source Bit _000:1.Data[4].14
Length 64
COP
Copy File
Source DINTArray[0]
Dest _1B004[0]
Length 4
BSR
ERROR
_1RO006[3].ER
5 F MCR
FFL FFL FFL FFL
ENABLE DONE EMPTY CONTROL
_1RO06[4].EN  _1R006[4].DN  _1RO006[4].EM FFL
5 F 5 F 5 F FIFO Load —CEN D>——
Source _ONO057[0] —(DN)>—
FIFO _ONO058[0] —EM >—
Control _1R006[4]
Length 64
Position 0
FFU FFU FFU FFU
ENABLE DONE EMPTY CONTROL
_1RO06[5].EN  _1RO006[5].DN  _1RO006[5].EM FFU
1 b 1 b 1 b FIFO Unload —CEU >——
FIFO _ONO058[0] (DN —
Dest _ONO057[1] —(EM )—
Control _1R006[5]
Length 64
Position 0
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48

49

50

LFL LFL LFL LFL
ENABLE DONE EMPTY CONTROL
_1R006[6].EN  _1RO006[6].DN  _1R006[6].EM LFL
5 F 5 F 5 F LIFO Load —CEN)——
Source _ONO057[2] (DN )>—
LIFO _ONO059[0] | CEM)—
Control _1R006[6]
Length 64
Position 0
LFU LFU LFU LFU
ENABLE DONE EMPTY CONTROL
_1RO06[7].EN  _1R006[7].DN _1RO006[7].EM LFU
H F 4 F 4 F LIFO Unload —CEUD)——
LIFO _ONO059[0] —(DN —
Dest _ONO057[3] —(EM —
Control _1R006[7]
Length 64
Position 0
MCR
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FAL MOV
51 File Arith/Logical —EN)>——— Move —
Control CTRLO2 Source _000:1.Data[6]
Length 5 —(DN)>— 2#0000_0000_0000_0000
Position 0 Dest DINTResult[0]
Mode ALL —CER)— 0
Dest DINTArray[0+CTRL02.POS]
0
Expression _ONO060[10+CTRL02.POS]
SQI/SQO
CONTROL
Sal
Sequencer Input —
Array DINTArray[0]
Mask 16#0000_0fff
Source DINTResult[0]
Control _1R006[8]
Length 4
Position 0
FAL
File Arith/Logical —CEN
Control CTRLO3
Length 5 —(DN ) >—
Position 0
Mode ALL —CER)>—
Dest DINTArray[0+CTRL03.POS]
0
Expression _ONO060[10+CTRL03.POS]
SQI/'SQO
CONTROL
SQO
Sequencer Output —CEND)——+
Array DINTArray[0]
Mask 16#0000_Offf (DN —
Dest DINTResult[0]
Control _1R006[8]
Length 4
Position 0
MOV
Move
Source DINTResult[0]
0
Dest _000:0.Data[6]
2#0000_0000_0000_0000
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SQI/SQO SQI/SQO
ENABLE DONE
_1RO0B[8J.EN _1RO06[8].DN FAL
52 q F q F File Arith/Logical —CEN
Control CTRLO4
Length 5 H(DN)—
Position 0
Mode ALL —CER)>—
Dest DINTArray[0+CTRL04.POS]
0
Expression _ONOBO[10+CTRLO4.POS]

MOV

Move

Source _1N089[80]
0

Dest DINTResult[0]
0

SQL
CONTROL
SQL
Sequencer Load —CENDO—
Array DINTArray[0]
Source DINTResultf0] —CDN)>—
Control _1R006[9]
Length 4
Position 0
FAL
File Arith/Logical —CENDO—
Control CTRLO5
Length 5 —(DN)—
Position 0
Mode ALL —CER >—
Dest _ONO060[10+CTRL05.POS]
0
Expression DINTArray[0+CTRL05.POS]

LBL1
53 — AFI | JMP )——|
LBL1 JSR

54 -~ LBL | Jump To Subroutine

Routine Name _1SBRO

Input Par _1NO089[83]

Return Par _1NO89[93]
55 TND —
(End)
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_1TRNO - Ladder Diagram Page 24

~62005250:MainTask:MainProgram 5/6/2008 2:45:59 PM
Total number of rungs in routine: 1 E:\ 62005250.ACD
BitArray[0]
0 1 AFI |
EOT

End Of Transition
State Bit BitArray[0]

(End)
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_2STEPO - Ladder Diagram
~62005250:MainTask:MainProgram
Total number of rungs in routine: 1

Page 25

5/6/2008 2:45:59 PM

E:\ 62005250.ACD

TON LP2 TON LP2
TIMER SCAN
DONE TIMER
_2TO005[9].DN TON
0 / Timer On Delay —CEN)>—
Timer _2T005[9] —CDN)>—
Preset 10000
Accum 0
(End)
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~62005250:MainTask:MainProgram 5/6/2008 2:45:59 PM
Total number of rungs in routine: 1 E:\ 62005250.ACD
BitArray[1]
0 1 AFI |
EOT

End Of Transition
State Bit BitArray[1]

(End)

RSLogix 5000



